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614453 s: Mdev= 0.25639E-14 Tdev= 910 ps
307227 s: Mdev= 0.23081E-14 Tdev= 409 ps
153613 s: Mdev= 0.15087E-14 Tdev= 134 ps
76807 s: Mdev=0.12130E-14 Tdev= 54 ps
38403 s: Mdev= 0.20458E-14 Tdev= 45 ps
19202 s: Mdev= 0.35358E-14 Tdev= 39 ps
9601 s: Mdev= 0.45526E-14 Tdev= 25 ps
4800 s: Mdev= 0.71012E-14 Tdev= 20 ps
2400 s: Mdev= 0.10630E-13 Tdev= 15 ps
1200 s: Mdev= 0.15281E-13 Tdev= 11 ps
600 s: Mdev= 0.30050E-13 Tdev= 10 ps
300 s: Mdev= 0.5|0421E—13 Tdev: 9 psI

le-13

o ©

le-15

| | |
100 1000 1000010000@000000
Tau /s



